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BES-019 : TEACHING OF SCIENCE 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 
Discuss about inquiry learning cycle giving 
suitable examples for each step in science. 

OR 
Why the knowledge of history of science is 
significant to understand the nature of science ? 
Give some examples to explain its importance. 

2. Answer the following question in about 
600 words. 
Discuss important characteristics of a unit plan. 
How does a unit plan help a teacher in 
teaching - learning process ? 

OR 
What are various categories of disabilities, which 
you can identify in your class ? Suggest some 
mechanisms to transform your teaching - learning 
for diverse learners in a science class. 
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3. 	Answer any four of the following questions in 
about 150 words each. 

(a) Discuss various aspects of continuous 
assessment in science. 

(b) Discuss various types of crops in India. 

(c) Suggest an activity for the learners of 
elementary stage to differentiate metals from 
non-metals. 

(d) How will you explain the concepts of 
respiration and breathing in science 
classroom ? 

(e) Explain with examples the heating effects 
and chemical effects of electricity. 

(f) "Scientific knowledge in tentative". Explain 
this statement with examples. 

4. Answer the following question in about 
600 words. 

Identify a topic from the theme "Food and 
Nutrition" and develop a crossword puzzle of 
minimum 10 items. Also develop an assessment 
table showing assessment indicators and clues 
based on indicators for the same. 
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